CLAMP—ON DETAIL 1

C Pole

CLAMP—0ON DETAIL 2

CLAMP—ON DETAIL &

2 lock washers

NO. | DATE REVISION APPROV.
ARV SZE | 1o le o | e | ARMSZE | T o le |o | e |0 MC-2 ——
D4 F DIA D, + o 3/8
in. in. in. |in. |in. |in. |in. | in. in. in. in. |in. |in. [in. |in. | in. 3/8, " z
6.5 179 12 9 9 6 1 1 7.0 179 11 11 8 8 |1 1/4|11/4 3
7.5 179 13 9 10 6 1 1 7.5 179 11 11 8 8 (1 1/4]111/4 /
8.0 179 14 | 10 | 11 |7 |11/4]11/4 8.0 179 1M |11 | 8 8 |1 1/4]11/4 MATERIALS
9.0 179 16 11 13 8 11/4]111/4 9.0 179 13 13 10 10 |1 1/4|11/4 /
9.5 179 17 | 12 | 14 | 9 |11/4]11/4 10.0 179 13 | 13 | 10 | 10 |1 1/4]11/4 / Round Shafts or ASTM A595 GR A, ASTM A570 GR 50,
9.5 239 18 | 12 | 15 | 9 [11/4]11/4 9.5 239 13 | 13 | 10 | 10 |1 1/4]11/4 S Polygonal Shafts ASTM AB07 GR 50, ASTM A572 GR 50 or A36M50
ol 7
1T 1/4111/4 1 11 v1/2(11/2
100 | .239 | 18 1 12 L 15 L9 Ak N I T B L LY El 7, Plates (1) ASTM A36 OR A572 GR 50 or A595 (Zor A36MS50
10.5 .239 18 | 13 | 15 | 10 [11/2]11)2 11.0 .239 14 | 14 | 11 11 |1 1/2)11/2 :
11.0 539 18 13 15 10 (11721112 1.5 939 14 14 11 11 |1 1/2]11/2 Connection Bolts ASTM A325 except where noted
. MC=1\ 3/16 Pin Bolts ASTM A325
316" oNr'C;; 3/16 or 795/16X Iy — W Pipe ASTM A53 GR A or B, or A501
MO 1 5/16 x3/16 s MC—1 1/4 _l‘> - 3/8 7 G s P DETAIL Misc. Hardware Galvanized steel or stainless steel
_ MC— " or 3g ussets ‘ or as noted
1/4" or 3g 1/4 7 gussets 7/1?x1/ RV (top & bottom) o
=\ ., , 3/16 |1\
S = See Detail A ™) . ,
- (Option #1) 3/8 Any of the materials listed for plates may be used where the
o a | 3 — - ; DETAIL B drawings do not specify a particular Grade designation.
O =
tife)
- See "Detail B” (2) C .
‘ ) ‘ = o (Option #2) If AS95 material is used, it need not be cold worked to A595
€ Conn. Bolts C A S|/ " requirments, but material must have 40 ksi minimum yield prior
(4 total with o 1/8]] Me=3 € Conn. Bolts ¢ Arm - 3/8 7 Gusset R to fabrication. §
1ot & 1 s (4 total with A\@v 7/16 " 7/16 "
lock washer T flat & 1 lock . ] MC—2 o= " =
each) ————< washer each) ?//”;7 5/16[/ 3 Q 5/16 _ Flange R
i ©® . < o o
I —2 1/2 7 dia hole ‘ o= : 2l =
in plate @L . Y : s o /
1t _ . ~<——Clamp R
<| O <| © b ;r ©
5 v? W A O— T 45 |
. j_:\\{\\ ” ﬁ e 4 Min. 85%
[ | _— : T—2 1/2 7 dia hole I >~ Penetration
: _ ———4 dia hole , in pole & plate ST O 7 o excent
: . - P
- in pole > > , T "Clamp—on
\_/@ | |~ ©Deburr holes and ™ Detgil 3"
€ Pole = ® Deburr holes and C Pole offset as shown Arm e Arm ————==
offset as shown for drainage e 7" 7"
for drainage
FIXED MOUNT DETAIL 1 FIXED MOUNT DETAIL 27 FIXED MOUNT ARM CLAMP—ON_ARM
ARM SIZE CONN. BOLTS |PIN BOLTS ARM SIZE A - - [CONN. BOLTS [PIN BOLTS ARM SIZE A - [CONN. BOLTS |PIN BOLTS
Dy F A - No. Dia | No. | Dia Dy T No. Dia | No. | Dia D, + No. Dia | No. | Dia :
in in in. lin. |ea |in. lea [in. in. in. in. |in. |in. ea. |in. lea. |in. in. in. in. | in. ea. |in. |ea. |in. GENERAL NOTES:
6.5 179 12 | 8 4 |%7/8| 2 | 5/8 /7.0 179 12 8 |3/4 | 4 3/4 | 2 | 5/8 6.5 179 12 | 8 4 1 2 | 5/8 Clamp—on details are used for the second arm on dual mast arm
7 5 179 12 | 8 4 1 2 | 5/8 7.5 179 14 8 [3/4] 4 3/4 | 2 | 5/8 7.5 179 14 | 8 4 1 2 | 5/8 assemblies. A Maximum 1 1/2 " wide vertical slotted hole may be
3.0 179 12 3 4 1 5 5/8 8.0 179 14 8 | 3/4 4 3/4 | 2 5/8 8.0 179 14 3 4 1 2 5/8 cut in the front clamp plate to facilitate drainage during
: : 9.0 179 16 10 778 2 . 5 5/8 9.0 179 16 10 1 1 5 5/8 galvanizing. The slot shall be centered behind the arm and shall
9.0 179 16 | 10 4 1 2 | 5/8 : : : ' be no longer than the arm diameter minus 17
9.5 179 18 | 12 4 |11/4| 3 | 5/8 10.0 179 18 |10 |7/8 | 4 1 2 | 5/8 9.5 179 18 | 12| 6 1 3 | 5/8
9.5 939 18 | 12 4 11/41 3 | 5/8 9.5 239 18 10 1 6 1 3 | 5/8 9.5 239 18 12 6 1 3 | 5/8 Fixed mount details are used for single mast arm assemblies
10.0 239 18 | 12 4 11/4] 3 5/8 10.0 239 18 10 1 6 1 3 5/8 10.0 239 18 12 6 1 3 5/8 and for the first arm on dual mast arm assemblies.
*1” Dia connection bolts are permissible Where duplicate parts occur on a detail, welds shown for one
MC—2 " - ‘ part shall apply to all similar parts on the detail.
. 2" ” .
Di L . Di MC—2 _‘T /ﬁ 1/2 " U=Strap, Grode 50 Pin bolts are required to prevent rotation of clamp—on arms
rel?qu?rsed 1/2 "~ dia drainage hole re'?quiorsed 1/2 7 dia e | 1/2 7 dia drainage hole under design wind forces.
1 1/2 7 dia wire drainage hole / BUILT AS PER i
outiet hole 1 1/2 " dio wire d A 1 1/2 " dio wiRECECATONS D PLAS NO'TE
, 3 /16 ' outlet hole iyl in bolts shall be A325 with threads excluded
c bg/t?enta may / outlet hole | : H_Jy PROJECTCO\O\fﬁ:\ATOW%FI;he shg%GplgnS: El? boflt L 13//84 " dd.io pi?e .
Pin bolt, . . _ \ SO 0F Yy sha ave ia holes for a ia galvanize
pipe & hole instead € Pin bolt, +$ @.Pm bolt, f ;"o')«?}--% """"" If.:';} Y cotter pin. Back clamp plate shall be furnished with
of welded pipe & hole pipe & hole o Fxi * \’l*l,' a 3/4 7 dia hole for each pin bolt. An 11/16 ” dia hole
3/4 7 dia . ¢ ? 3/4 7 dia ¢ Arm A RIRTC for each pin bolt shall be field drilled through
Pipe 5/4 dia ﬂj— Iﬁm Arm Pige g ............ e the pole after arm orientations have been
€ Arm 55 o Pipe - & 3/8" p Dia. as l':a’ob‘-.,.,p€§5752@.,-i§f approved by the Engineer.
in. o ' e SISTEN oS
iﬁderio't Penetration 3rd bolt Grade 50 2 Min. 85% SLd bolt Grade 50 Required "\ffg(om(cgﬁi:
i _ where Penetration where \\‘\ |
reqwred&’ | L J’ I7 a reauired requires DB%‘%\A?SEEDKIA;VAEQ Auw}i%%
. — I :
— . . 7/16 x 1/4 I {uc—4 % MC=2 A J HATCHELL
) : a ) ON _° x)ﬁ;n.
N T . k; . $ I 7/16 x 1/4 L - T\ T ALTERATION OF A SEALED DOCUMENT WITHOUT /8A
~ ‘ 1 - Aol — PROPER NOTIFICATION TO THE RESPONSIBLE |DATE: DECEMBER, 2001 | SCALE: NOT TO SCALE | JOB NO.: 00-249
- ‘ = o~ Ee= -l ENGINEER IS AN OFFENSE UNDER THE -
N ‘ - i - ‘T— | S - \t T TEXAS ENGINEERING PRACTICE ACT. DRAWN: GBW | DESIGN: WJH |REVIEWED: DWG: 249DETAILS—TRAF
= : : al o . SN . T ’ N
N A4 5 Q;— e N O ? gvl o - ? ARAPAHO ROAD PHASE II
LA ) Of o <C - L —
e | < | H i & | — TRAFFIC SIGNAL SUPPORT STRUGCTURES
. - ) ]E-s—- Connection Bolt with (2 S @ N | R STANDARD DETAIL
i | L hex nut, 2 flat washers L e ﬁ N N I ﬁ 1 e 3/8 " ‘P
| RN x A T gonncction Bt wits — —H TOWN OF ADDISON
, ) hex nut, 2 flat washers % ' ~ Connection Bolt
Pin Bolt la———(l_:_ Pole & 2 lock washers with hex nut, 2
Pin Bolt — Pin Bolt lef({j_ Pole flat washers &

SHT.

Grantham, Burge & Waldbauer

THIS DETAIL SHEET WAS
OBTAINED FROM TXDOT

r
G
-
-'A‘ Engineers, Inc.

1919 S. SHILOH ROAD, SUITE 530, LB. 27
GARLAND, TEXAS 75042

15—-16
OF
IS—-21

(972) 840-1916 (TEL)
(972) 840-2156 (FAX)




